Intake kit Installation Instructions: 2006-2008 BMW M5 / M6 V10-5.0L Stage 2

Parts list Passenger side:

Kit P/N: 51/54-11272 Tools Required:
5/16" nut driver 1 Air filter ( Pro-5R™ 24-90052 or 1 Clamp, #072
Make: BMW 1/4” nut driver Pro Dry S™ 21-90052) 3 Clamp, #060
Flat head screwdriver 1 Housing 7 Button head, screws M6
Model: Year: Engine: 10mm socket or extension 1 Diverter, air filter 05-00970 7 Washer, wavy M6
M5 (E60) 06-08 V10-5.0L | T20 torx bit 1 Diverter, housing 05-00983 2 Screws, M4 x .7 x 16
M6 (E63/64)  06-08 V10-5.0L | T30 torx bit 1 Coupler, reducer (4-1/4" X 3-1/2") 1 3/4” trim seal @ 16.5" L
5mm allen key 1 Coupler, straight (3-1/2" X 27) 1 Fitting, plastic elbow 1”
1 Tube, 05-00889 1 Clamp, mini #012
1 Adaptor, air filter 1 Pre-filter
1

Gasket, MAF

',. NES/_ & s

1) Loosen the 2 bolts holding in bottom half of air box.
2) Push back clip on bottom half of airbox, located on
bottom ram air unit.

Disconnect MAF sensor harness. Loosen clamps with
1/4” nut driver.

Attach air diverters to housing using button head and wavy
washers. Tighten using 5mm allen key. Install 3/4” trim seal
on housing. Note: Failure to install air diverters may result
in CEL (Check Engine Light).

Attach filter adaptor to housing using 3 button head
screws & wavy washers. Tighten using 5mm allen key.

air unit. Place housing into vehicle. Attach tab to housing
to ram air unit. Re-install bolt and tighten.

Step 11

Install filter on adaptor. Install pre filter with cutout. The
cutout is provided to clear plastic elbow Install plastic
elbow with mini clamp provided to filter and smog pump

line from step 12.Tighten mini clamp using 1/4” nut driver.
Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit” (aFe P/N: 90-50001 blue oil aerosol, or aFe P/N: 90-50501 blue squeeze bottle oil).

Filter Replacement: Pro-5R ™ PN: 24-90052 (black w/blue media). Pro Dry S ™ P/N: 21-90052 (black w/white media) Pro Dry S ™ cleaning: see cleaning instruction sheet 06-00074.

With couplers and clamps provided, install tube into
vehicle.

Position tube and tighten using 5/16” nut driver. Remove plastic smog pump elbow. Note: If difficult to
remove, a heat gun may allow for elbow fitting to come

out easier.

Remove MAF sensor from airbox and install into new tube
(05-00889) with screws and gasket provided. Tighten
using flathead screwdriver.

Position smog pump line above ram air unit. Tighten
clamp on filter using 5/16” nut driver. Re-connect MAF
sensor harness. Continue to page 2 for driver side
installation.




Intake kit Installation Instructions: 2006-2008 BMW M5 / M6 V10-5.0L Stage 2

Kit PIN: 51/54-11272 Tools Required: Parts list Driver side:
5/16” nut driver 1 Air filter ( Pro-5R™ 24-90052 or 1 Clamp, #072
Make: BMW 1/4” nut driver Pro Dry S™ 21-90052) 3 Clamp, #060
Flat head screwdriver 1 Housing 7 Button head, screws M6
Model: Year: Engine: [ 10mm socket or extension 1 Diverter, air filter 05-00970 7 Washer, wavy M6
M5 (E60) 06-08 V10-5.0L | T20 torx bit 1 Diverter, housing 05-00983 1 Washer, flat M6
M6 (E63/64)  06-08 V10-5.0L [ T30 torx bit 1 Coupler, reducer (4-1/4" X 3-1/2") 1 Screw, hex M6
5mm allen key 1 Coupler, straight (3-1/2” X 27) 2 Screws, M4 x .7 x 16
1 Tube, 05-00969 1 3/4" trimseal @ 13" L
1 Adaptor, air filter 1 7/16” trim seal @ 3.5" L
1 Gasket, MAF 1 Pre-filter

Step 17

Step 16

Step 15

Disconnect MAF sensor harness. Loosen clamps with
1/4” nut driver. Take out plastic intake tube.

ALY e
1) Loosen the 2 bolts holding in bottom half of air box.
2) Push back clip on bottom half of airbox, located on
bottom ram air unit.

) { (

Place housin in vehicle. Attach tab to front radiator sup-
port using supplied M6 screw and washer.

button head and wa

Attach filter adaptor to housing using 3 button head ( \\%
ey. Install 3/4” trim seal

screws & wavy washers. Tighten using 5mm allen key.

Attach air_diverters to housing usin
washers. Tighten using 5mm allen
on housing. Install small 7/16” trim seal to corner of

Re-install nut from step 4 and tighten using 10mm socket
or wrench.

Remove MAF sensor from airbox and install in new tube
(05-00969) with screws and gasket provided. Tighten
using flathead screwdriver.

housing. Note: Failure to install air diverters may result
in CEL (Check Engine Light).

oy - .
Wiy,

Your installation is now complete. Check both driver and
passenger side clamps and components periodically.
Thank you for choosing aFe power!

Install air filter and tighten using 5/16” nut driver. Install
pre filter. Make sure cap is installed in filter top. Re-con-
nect MAF sensor harness.

Position tube and tighten all clamps using 5/16” nut
driver.

With couplers and clamps provided, install tube into
vehicle.

Place washer inlet reservoir onto housing tab.

Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit” (aFe P/N: 90-50001 blue oil aerosol, or aFe P/N: 90-50501 blue squeeze bottle oil).
Filter Replacement: Pro-5R ™ PN: 24-90052 (black w/blue media). Pro Dry S ™ P/N: 21-90052 (black w/white media) Pro Dry S ™ cleaning: see cleaning instruction sheet 06-00074.

Get top quality aFe products on our website. We offer performance air intake systems that are tested to the limit and beyond.


https://www.carid.com/afe-power/
https://www.carid.com/air-intakes.html

	06-80245 54-11272 M5 V10-5.0L pg1.pdf
	06-80245 54-11272 M5 V10-5.0L pg2.pdf

